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MAST AND TIE-IN

Mt3E2E(E | FrE4iM /7 E Wit E  (Reaction Force F on the Wall )

( The force on the wall can be obtain from the following formula):
F=L X 60000/ (BX2.05) (N)

N

1N=0. 102kg

4. B=1500mm, L=3100mm F=3100X 60000/1500 X 2.05=60488 N

tIE e 5 i 4 (Attachment of Tie-in)
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The tie—in are attached to Fixed by bolts.
embeded brackets of building.
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Emdeded bolts. Welded into steel structure
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Connecting with the floor slab.
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Note : According to need, please select the method for tie-in attached to the building and

prepare the bolts and parts, the strength of which can support the force F as the formula above.
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